Year 3 Autumn 2 Maths Activity Mat 6

Section 1 Section 2 Section 3 Section 4
Match the numbers up to Fill in the missing numbers. Draw the rest of the square.
add the totals to 100. 1kg = g
20 60 12 | 14 18 22
2m = cm
40 30
3 litres = ml
30 80
What is the perimeter of the
70 70 shape?
Section 5 Section 6 Section 7 Section 8
A hat costs £12.20. Kamil is twice as old as his Which sign is missing?
x 4 =40 brother.
How much will it cost in — _ .
the half price sale? ) His brother is 3. 2 3 =6
x 6 = 30 _ _
R How old is Kamil?
— 12 4 = 8
x 2 = 24
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Year 3 Autumn 2 Maths Activity Mat 6 Answers

Section 1 Section 2 Section 3 Section 4
Match the numbers up to Fill in the missing numbers. Draw the rest of the square.
add the totals to 100. 1kg =| 1000 |g
20 60 12 (14 | 16 | 18 | 20 | 22 om =1 200 |em
40 30
3 litres = | 3000 | ml
30 80
What is the perimeter of the
shape?
70 70 P 12cm
Section 5 Section 6 Section 7 Section 8
A hat costs £12.20. Kamil is twice as old as his Which sign is missing?
10 (x4 =40 brother.
How much will it cost in _ .
the half price sale? His brother is 3. 2| * |3 =6
5 |x6=30 _ _
How old is Kamil?
12 + |4 = 8
12 | x 2 =24
£6.10 6 years old
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Year 3 Autumn 2 Maths Activity Mat 6

Section 1

Match the numbers up to
add the totals to 100.

Section 2

Fill in the missing numbers.

Section 3

Draw the rest of the rectangle.

28 19 62 58 54 42
56 67
33 Lty
What is the perimeter of the shape?
81 72
Section 4 Section 5 Section 6 Section 7 Section 8
A handbag Hannah is 4 times Which sign is missing?
1km 300m = m costs £90. +4=28 older than her
y - cousin. 15 5 - 3
5m 60cm = cm Ow much wi :2-10 H i is 8
it cost in the er cousin is 8.
7 litres 900ml = ml half price sale? _ How old is 27 13 = 40
+8=3 Hannah?
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Year 3 Autumn 2 Maths Activity Mat 6 Answers

Section 1
Match the numbers up to
add the totals to 100.

Section 2

Fill in the missing numbers.

Section 3

Draw the rest of the rectangle.

28 19 62 | 58 | 54 | 50 | 46 | 42 | 38
56 67
33 44
What is the perimeter of the shape?
81 72 l6cm
Section 4 Section 5 Section 6 Section 7 Section 8
A handbag Hannah is 4 times Which sign is missing?
1km 300m = 1300 | m costs £90. 32 (+4=8 older than her
y - cousin. 5] =15 = 3
5m 60cm =| 560 |cm ow much wi 20 |+2=10 H i is 8
it cost in the er cousin is 8.
half pri le? ' -
7 litres 900ml = [ 7900 | ml alf price sale _ How old is 27| + |13 = 40
24 |+8=3 Hannah?
£45 32
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Year 3 Autumn 2 Maths Activity Mat 6

Section 1 Section 2 Section 3
Match the numbers up to Fill in the missing numbers. Draw a rectangle with sides of 2cm 40mm
add the totals to 1000. and 4cm 20mm.

650 850 79 | 71 47 | 39

150 250

380 620

730 350 What is the perimeter?

Section 4 Section 5 Section 6 Section 7 Section 8

A bike costs 100 x 9 = Jenny is % of Which sign is missing?
980cm = m cm £156. the age of her

~ sister. =

How much will 50 x 8 = 400 100 “
4300ml = 1 ml it cost in the Her sister is 9.

half price sale? 60 >3 = How old is 236 10 = 226
38mm = cm mm 320 + 4 = Jenny?

180 6 = 30
720 + 8 =
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Year 3 Autumn 2 Maths Activity Mat 6 Answers

Section 1
Match the numbers up to
add the totals to 1000.

Section 2
Fill in the missing numbers.

Section 3
Draw a rectangle with
and 4cm, 20mm.

sides of 2cm, 40mm

650 850 79 | 71 | 63 | 55 | 47 | 39 | 31
150 270
380 / \620
730 350 What is the perimeter? | 12cm or 120mm
Section 4 Section 5 Section 6 Section 7 Section 8
A bike costs Jenny is + of Which sian is missing?
) 100 x 9 = | 900 3 gn is missing-
980cm =| 9 || 80 |m £156. the age of her
. 50 x 8 = | 400 sister. 400| + |100 = &4
How much will _ .
4300ml=| 4 || 300 || it cost in the o x 3 " Her sister is 9.
X =
half price sale? ! How old is 236| - |10 = 226
38mm=| 3 |.n| 8 |mm 320+ 4 =| 80 Jenny?
180| + |6 = 30
£78 720+ 8 =| 90 3
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